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With 10,000,000 iterations, this outputs approximately 22.32% both when N = 10 and when N = 20.
A permutation with neither singleton nor doubleton cycles can be constructed as a set of cycles of lengths
at least 3, so the EGF for the permutations with neither singleton nor doubleton cycles is
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Since 1 is the unique pole of Ω(z) and it has order 1, we have by the transfer theorem in lecture that the
percentage of permutations of size N with neither singleton nor doubleton cycles is
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Since e−3/2 ∼ 22.31%, this agrees with the values computed emperically.
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